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1.a) Which among the branches of economics looks closer to managerial
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3.a)

4.a) What is
*..analysis?

F). !::'What is
example.

break- even price and quantity? What are the assumptions of breakeven

functiort' with two raliaulei inputs?

OR
5.a) Show ,cost- output relationship' in the short run indicating the behavior of marginal

cost, average total cost, average variable cost and average fixed cost'

b)...."A 
"o*pun14.b.qyq 

a small fabr,i.c.atpd part frory'g,sllPplier who,c[?rge9 Rs, 200,p91p-iece'

''1;" 

i,:.rn" quuntiij,,.iefiuirement fbi. thA part annufrlii:is soO piecES.:Ifi the compdhyifias to

makelt, it has to invest Rs.8,00,000 on machinery and the variable costs in terrns labour

and other direct cost works out to Rs.40. Suggest whether the company should continue

buying the parts or make it, on its own. [5+5]
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b) Define income elasticity of demand.

c)." ....IVhat is oppoflu4ity cost? i..': :"'l: i""; :"t: i"": ,"1:

ifi. i::.Wtut ar",.ii*ii*"*iable costb'?.tiy.ive suitable Fx,rfrrirles. i'r:. :".r

e) What is monoPsonY?

0 What is transfer Pricing?
g) How do you calculate Fayback period if annual cash flows are uneven?

[l Why present value of future earnings is always lesser than future values?

i)., i'::IVhat are cqp".rtp!,receipts? Qlyt:ytio91: "liSPL"it i.".':'.:;
ji:. i'..wt ut oo ydfidiiderstand bvrtiU;ttirm 'liquiditj":1:'"' i "'" !:'":
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[5+5]

goods sold and
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i"..'i*.:llo maintain'' ir.:burrent *&i:p.t 3:2 how
- - i ::j::'i?biti i"r?-:*tJo catsutate iisieid-test-mtio'

b) Define OPerating ratio and EPS' [5+5]
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::"";nat 
is 'eioifbitur' issuediby'a'bompany? Wrrhr *" its contbriti?'

bi What are the features of perfect competition?
OR

40,00,000
8,50,000
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:,,., : ,. a i,, .28,50;0QQ: .': ;"": i"
2 25,00,000

J 20,00,000

4 15,00,000

r...,i".[5+5] 1..., ;'
i:..: i'.:Determine Average Rate of Return'

Sundry debtors
Cash
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